\\\ 7jf y 4

MAGNU

HOM

ASSEMBLY INSTRUCTIONS
INSTRUCTIONS DE MONTAGE

SSEN®

E

INSTRUCCIONES DE MONTAIJE

MODEL/ MODELE/ MODELO: T2114-07 OVAL END TABLE

CAUTION: PLEASE READ ALL INSTRUCTIONS BEFORE STARTING THE ASSEMBLY OF THIS PRODUCT. THESE PIECES ARE HEAVY.
IN ORDER TO PREVENT PERSONAL INJURY AND ENSURE THAT THIS PRODUCT IS NOT DAMAGED DURING THE
ASSEMBLY PROCESS, IT IS STRONGLY RECOMMENDED TO ENLIST THE ASSISTANCE OF ONE OR MORE PERSONS.
IN CASE OF EXCESS STAIN, WIPE THE BOTTOM OF THE UNIT BEFORE PLACING ON ANY SURFACE.

ATTENTION: VEUILLEZ LIRE TOUTES LES INSTRUCTIONS AVANT DE COMMENCER L'ASSEMBLAGE DE CE PRODUIT. LES
PIEOCES SONT LOURDES. POUR EVITER TOUTE BLESSURE ET POUR VOUS. ASSURER QUE LE PRODUIT N'EST
PAS ENDOMMAGE' PENDANT L'ASSEMBLAGE, NOUS VOUS RECOMMANDONS DE FAIRE APPEL A UNE OU
PLUSIEURS AUTRES PERSONNES. EN CAS DE TACHE EXCESSIVE, ESSUYEZ

LE FOND DE L'UNITE' AVANT LE PLACEMENT SUR N'IMPORTE QUELLE SURFACE.

CUIDADO: FAVOR DE LEER TODAS LAS INSTRUCCIONES ANTES DE ENSAMBLAR SU PRODUCTO, ESTAS. PIEZAS SON PESADAS.
PARA PREVENIR HERIDAS PERSONALES Y ASEGURAR QUE SU PRODUCTO NO SEA DAN ADO MIENTRAS ES
ENSAMBLADO. SE RECOMIENDA LA ASISTENCIA DE UNA O MAUS PERSONAS.

WARNING: PROTECTIVE GLIDE IS PLACED UNDER EACH LEG OF THE FURNITURE TO RESIST SCRATCHES ON FLOOR SURFACE.
SOME FLOOR SURFACES CAN BE EXTRA SENSITIVE TO SCRATCHES AND MARKINGS, IF YOU ARE NOT SURE
CONSULT WITH YOUR DEALER.
AVERTISSEMENT. LES PIEDS DES MEUBLES SONT MUNIS DE PATINS DESTINES A PROTEGER LE PLANCHER.
CERTAINS REVETEMENTS DE SOL PEUVENT ETRE TRES FRAGILES. EN CAS DE DOUTE.CONSULTER LE MARCHAND.

LIST OF PARTS AND HARDWARE/ LISTE DES PIECES ET DU MATERIEL/ LISTA DE PIEZAS Y HARDWARE

NO#/ NOMBRE/ NUMERO | DESCRIPTION/ DESCRIPTION/ DESCRIPCION QUANTITY/ QUANTITE/ CANTIDAD
A BOLT/ BOULON/ TORNILLO 1/4" DIAMETER x 3/4"LENGTH Oy 8 PCS
B BOLT/ BOULON/ TORNILLO 1/4" DIAMETER x 2-1/2"LENGTH @"f'l»»m,,, 4 PCS
LOCK WASHER/ RONDELLE DE BLOCAGE/ . . .

C ARANDELA DE BLOQUEO 5/16"DIAMETER x 1/2" x 1/16 @) 4 PCS
FLAT WASHER/ RONDELLE PLATE/ . . . 4 PCS

D ARANDEL A PLANA 5/16"DIAMETER x 3/4" x 1/16
ALLEN KEY/ CLE ALLEN/ ﬁ

E LLAVE INGLESA ALLEN 316" 1PC
PLASTIC MAT/TAPIS EN PLASTIQUE/

F ALFOMBRA DE PLAASTICO g 4PCS
GLASS BUMPER/PARE-CHOCS EN VERRE/

G PARACHOQUES DE VIDRIO < 6 PCS

LIST OF PARTS AND HARDWARE/ LISTE DES PIECES ET DU MATERIEL/ LISTA DE PIEZAS Y HARDWARE

NO#/ NOMBRE/ NUMERO

DESCRIPTION/ DESCRIPTION/ DESCRIPCION

QUANTITY/ QUANTITE/ CANTIDAD

1 TOP FRAME/CADRE SUPERIEUR/MARCO SUPERIOR © 1PC
2 STRETCHER/LE TENDEUR/LA CAMILLA ,)§<‘ 1 PC
3 METAL LEG/PIED EN METAL/PATA METALICA % 4 PCS
4 GLASS TOP INSERT/INSERT SUPERIEUR EN VERRE/INSERTO SUPERIOR DE VIDRIO @ 1 PC

NOTE:

ASSEMBLE UNIT ON A SOFT SURFACE.

ASSEMBLEZ LUNITE SUR UNE SURFACE MOLLE.
ENSAMBLE LA UNIDAD EN UNA SUPERFICIE PLANA Y SUAVE.

DO NOT TIGHTEN BOLTS UNTIL ALL PARTS AND HARDWARE OF THE UNIT ARE ASSEMBLED.

NE SERREZ PAS LES BOULONS JUSQU’A CE QUE IUNITE SOIT COMPLETEMENT ASSEMBLEE.
NO APRIETE LOS TORNILLOS HASTA QUE LA UNIDAD ESTE COMPLETAMENTE ENSAMBLADA.

PAGE 1 OF 2




HOME
MODEL/ MODELE/ MODELO: T2114-07 OVAL END TABLE

1 ASSEMBLY INSTRUCTIONS
INSTRUCTIONS DE MONTAGE
MAGNUSSEN® INSTRUCCIONES DE MONTAIJE

STEP/ ETAPE/
PASO 1

STEP/ ETAPE/
PASO 2

STEP/ ETAPE/
PASO 3

NOTE:
THE TABLE OR CASE SHOULD BE LOCKED IN POSITION AND LEVELLED USING A SPIRIT LEVEL. (SPIRIT LEVEL NOT INCLUDED)

LA MESA O CAJA DEBE BLOQUEARSE EN SU POSICION Y NIVELARSE CON UN NIVEL DE BURBUJA. (NIVEL DE BURBUJA NO INCLUIDO)

STEP/ ETAPE/
PASO 4

WARNING:
ONLY USE THE HAND
TOOLS PROVIDED

LA TABLE OU LE BOITIER DOIT ETRE VERROUILLE EN POSITION ET NIVELE A L'AIDE D'UN NIVEAU A BULLE. (NIVEAU A BULLE NON INCLUS)

PAGE 2 OF 2




ASSEMBLY INSTRUCTIONS
INSTRUCTIONS DE MONTAGE
MAGNUSSEN’ INSTRUCCIONES DE MONTAIJE

HOME
MODEL/ MODELE/ MODELO: T2114-47 OVAL COCKTAIL TABLE

CAUTION: PLEASE READ ALL INSTRUCTIONS BEFORE STARTING THE ASSEMBLY OF THIS PRODUCT. THESE PIECES ARE HEAVY.
IN ORDER TO PREVENT PERSONAL INJURY AND ENSURE THAT THIS PRODUCT IS NOT DAMAGED DURING THE
ASSEMBLY PROCESS, IT IS STRONGLY RECOMMENDED TO ENLIST THE ASSISTANCE OF ONE OR MORE PERSONS.
IN CASE OF EXCESS STAIN, WIPE THE BOTTOM OF THE UNIT BEFORE PLACING ON ANY SURFACE.

ATTENTION: VEUILLEZ LIRE TOUTES LES INSTRUCTIONS AVANT DE COMMENCER L'ASSEMBLAGE DE CE PRODUIT. LES
PIEOCES SONT LOURDES. POUR EVITER TOUTE BLESSURE ET POUR VOUS. ASSURER QUE LE PRODUIT NEST
PAS ENDOMMAGE' PENDANT L'ASSEMBLAGE, NOUS VOUS RECOMMANDONS DE FAIRE APPEL A UNE OU
PLUSIEURS AUTRES PERSONNES. EN CAS DE TACHE EXCESSIVE, ESSUYEZ
LE FOND DE L'UNITE' AVANT LE PLACEMENT SUR N'IMPORTE QUELLE SURFACE.

CUIDADO: FAVOR DE LEER TODAS LAS INSTRUCCIONES ANTES DE ENSAMBLAR SU PRODUCTO, ESTAS. PIEZAS SON PESADAS.

PARA PREVENIR HERIDAS PERSONALES Y ASEGURAR QUE SU PRODUCTO NO SEA DAN ADO MIENTRAS ES
ENSAMBLADO. SE RECOMIENDA LA ASISTENCIA DE UNA O MAUS PERSONAS.

WARNING: PROTECTIVE GLIDE IS PLACED UNDER EACH LEG OF THE FURNITURE TO RESIST SCRATCHES ON FLOOR SURFACE.
SOME FLOOR SURFACES CAN BE EXTRA SENSITIVE TO SCRATCHES AND MARKINGS, IF YOU ARE NOT SURE
CONSULT WITH YOUR DEALER.
AVERTISSEMENT. LES PIEDS DES MEUBLES SONT MUNIS DE PATINS DESTINES A PROTEGER LE PLANCHER.
CERTAINS REVETEMENTS DE SOL PEUVENT ETRE TRES FRAGILES. EN CAS DE DOUTE.CONSULTER LE MARCHAND.

LIST OF PARTS AND HARDWARE/ LISTE DES PIECES ET DU MATERIEL/ LISTA DE PIEZAS Y HARDWARE

NO# NOMBRE/ NUMERO | DESCRIPTION/ DESCRIPTION/ DESCRIPCION QUANTITY/ QUANTITE/ CANTIDAD
A BOLT/ BOULON/ TORNILLO 1/4" DIAMETER x 3/4"LENGTH iy 8 PCS
B BOLT/ BOULON/ TORNILLO 1/4" DIAMETER x 2-1/2"LENGTH 4 PCS
LOCK WASHER/ RONDELLE DE BLOCAGE/ . . .,

C ARANDELA DE BLOQUEO 5/16"DIAMETER x 1/2" x 1/16 (@) 4 PCS
FLAT WASHER/ RONDELLE PLATE/ \ . . 4P

D ARANDELA PLANA 5/16"DIAMETER x 3/4" x 1/16 CS
ALLEN KEY/ CLE ALLEN/ ﬁ

E LLAVE INGLESA ALLEN 3/16" 1PC
PLASTIC MAT/TAPIS EN PLASTIQUE/

F ALFOMBRA DE PLAASTICO @ 4 PCS
GLASS BUMPER/PARE-CHOCS EN VERRE/

G PARACHOQUES DE VIDRIO (- 8 PCS

LIST OF PARTS AND HARDWARE/ LISTE DES PIECES ET DU MATERIEL/ LISTA DE PIEZAS Y HARDWARE

NO#/ NOMBRE/ NUMERO DESCRIPTION/ DESCRIPTION/ DESCRIPCION QUANTITY/ QUANTITE/ CANTIDAD

1 TOP FRAME/CADRE SUPERIEUR/MARCO SUPERIOR 1 PC

3 METAL LEG/PIED EN METAL/PATA METALICA 4 PCS

2 STRETCHER/LE TENDEUR/LA CAMILLA ‘)§<. 1 PC

4 GLASS TOP INSERT/INSERT SUPERIEUR EN VERRE/INSERTO SUPERIOR DE VIDRIO 1 PC

NOTE:
ASSEMBLE UNIT ON A SOFT SURFACE.

ASSEMBLEZ CUNITE SUR UNE SURFACE MOLLE.
ENSAMBLE LA UNIDAD EN UNA SUPERFICIE PLANA Y SUAVE.

DO NOT TIGHTEN BOLTS UNTIL ALL PARTS AND HARDWARE OF THE UNIT ARE ASSEMBLED.

NE SERREZ PAS LES BOULONS JUSQU’A CE QUE LUNITE SOIT COMPLETEMENT ASSEMBLEE.
NO APRIETE LOS TORNILLOS HASTA QUE LA UNIDAD ESTE COMPLETAMENTE ENSAMBLADA.

PAGE 1 OF 2




ASSEMBLY INSTRUCTIONS
INSTRUCTIONS DE MONTAGE
MAGNUSSEN® INSTRUCCIONES DE MONTAIJE

HOME
MODEL/ MODELE/ MODELO: T2114-47 OVAL COCKTAIL TABLE

E F |
STEP/ ETAPE/ A E

/ STEP/ ETAPE/
© PASO2

STEP/ ETAPE/
PASO 4

L o
=<

N

i
WARNING:
‘ ONLY USE THE HAND
NOTE: TOOLS PROVIDED
THE TABLE OR CASE SHOULD BE LOCKED IN POSITION AND LEVELLED USING A SPIRIT LEVEL. (SPIRIT LEVEL NOT INCLUDED)

LA TABLE OU LE BOITIER DOIT ETRE VERROUILLE EN POSITION ET NIVELE A L'AIDE D'UN NIVEAU A BULLE. (NIVEAU A BULLE NON INCLUS)
LA MESA O CAJA DEBE BLOQUEARSE EN SU POSICION Y NIVELARSE CON UN NIVEL DE BURBUJA. (NIVEL DE BURBUJA NO INCLUIDO)

PAGE 2 OF 2




I\/‘ ]

MAGNUSSEN?

HOME

Furniture Care and Cleaning

FOLLOWING THESE FEW BASIC STEPS WILL HELP YOU ENJOY AND PROTECT YOUR
INVESTMENT FOR YEARS TO COME.

Do not expose your furniture to any liquids.

All liquids should be wiped up immediately with a soft, slightly damp cloth in the direction of the
wood grain.

For stone surfaces, liquids should be immediately soaked up with a paper towel and wiped dry to
avoid any staining.

Do not expose your furniture to strong or direct sunlight, heat outlets, open windows
and dampness.

Excessive exposure to sunlight can cause fading of your furniture finish.

Extreme temperatures and humidity changes can cause cracking and splitting.

Do not place rubber or plastic materials on the wood finish.

Chemicals within the plastic or rubber may react with the finish if left in contact for a long period of
time.

Place a strip of felt or cork under your accessories to avoid any markings.

Never place hot objects on any furniture surface.

Dust with a clean, damp, lint free cloth.

Frequent dusting will remove abrasive build up, which can damage a finish over time.

Small scratches and marks can be touched up or covered with a mar or scratch remover or a touch up
stick. These can be purchased from any paint or hardware store.

Consignes d’entretien de vos meubles

EN SUIVANT CES CONSIGNES DE BASE, VOUS PROTEGEREZ ET APPRECIEREZ VOTRE
INVESTISSEMENT POUR LES ANNEES A VENIR.

Ne pas renverser de liquide sur vos meubles.

Tout liquids doit étre immédiatement essuyé avec un chiffon légerement humide dans la direction du
grain du bois.

Pour les surfaces en Pierre, les liquids doivent étre immédiatement épongés avec une serviette de
papier et séchés afin d’éviter tout risqué de tache.

Ne pas laisser les meubles directement en contact avec la lumiere du soleil, les sources
de chaleur, les fenétres ouvertes et '’humidité.

Une exposition excessive a la lumiere du soleil pourrait entrainer la decoloration de la finition de
votre meuble.

Les temperatures extréme et ’humidité peuvent provoquer des fissures et des craquelements.

Ne pas poser de matériaux en cahoutchouc ou en plastique sur le bois.

Les agents chimiques contenus dans le plastique ou le cahoutchouc pourraient interferer avec la
finition du meuble sure la durée.




Placer un morceau de feutrine ou du liege sous vos accessories afin d’éviter tout risqué de marque.

Ne jamais laisser d’objets chauds sur un meuble.

Toujours mettre une assiette chaude entre le haut de votre meuble et un objet chaud afin de le
protéger de le chaleur.

Dépoussiérer avec un chiffon propre, légerement humide et sans trace de peluche.
Dépoussiérer fréquemment enlévera les risques d’accumulation abrasive pour la finition sur la duréc.
Les petites traces de rayures et coups peuvent étre retouches ou recouvertes par un stick ou une lotion
prévue a cet effet. Ces produits peuvent étre achetés chez tout quincailler.

Cuidado y limpieza de sus muebles

LOS SIGUIENES PASOS BASICOS LE AYUDARA A DISFRUTAR Y PROTEGER SUS INVERSIONES
DURANTE MUCHOS ANOS.

No exponga su mueble a liquidos.

Cualquier liquido debe ser limpiado inmediatamente usando una tela suave y himeda en direccion
con el corte de la madera.

Para superficies consistiendo de roca, los liquidos deben ser extraidos usando una servilleta de papel y
limpiarse hasta dejar seco para evitar manchas.

No exponga su mueble a altas temperaturas, fuertes rayos de sol, humedad y
ventanillas abiertas.

El exceso de sol puede causar cambios de color.

Extremas temperaturas y cambios de hiimeda pueden causar cuartiaduras.

No coloque objetos de plastico o hule sobre un acabado de madera.

Substancias quimicas contenidas en el plastico o hule pueden causar una reaccién si son dejadas por
un largo periodo. Siempre proteja su mueble usando algiin objeto apropiado o tela debajo de sus
accesorios para evitar manchas.

Nunca coloque objetos calientes sobre la superficie de su mueble.
Siempre coloque un plato entremedio de cualquier objeto caliente.

Sacuda y limpie su mueble usando una tela suave, hiimeda y que no contenga exceso de
fibra.

Las acumulaciones sobre la superficie de su mueble pueden danar su mueble. Estas pueden ser
evitadas limpiando su mueble frecuentemente.

Imperfecciones y rayones pequenos pueden ser retocados o cubiertos usando plumones o liquidos
diseniados especificamente para muebles.

Estos pueden ser obtenidos en cualquier tienda de pintura o ferreteria.




	Sheets and Views
	1.1

	Sheets and Views
	1.1 (2)

	Sheets and Views
	1.1 (3)

	Sheets and Views
	1.1 (4)


